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3016 C ccep o2 30 0,3 1250 | 90 | 16 | 350 2
35 RE int 4 35 . 03 117 110 ’ | 2
357 6-G int 2 35 ! 03 235 | 110 | 350 | 1
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Equivalents A, A
F £
G 3060 Tri = CY 2 UR3 Mul =CY2 P e
G 3120 Tri = PV 30 UR3C Mul = CY 32 F F A,
NEG 3002 Sat = PV 30 UU 4020 Maz = CY 2 Cy?2 Cy32
NVG 3002 Sat = PV 30 § UVG 51 Sat = CY 2 3 4 .
PY30V Tu = CY2 UY2 Dar = CY2 '
RE 3020 Vat = CY 2 VCY 2 Vat = CY 2 A Ay
TCY2 Tu = CY2 1D4 Bri =CY2 p "
TW 2 Dar = PV 30 13U7 Ut = CY2 ) Ky 2
TW2P Dar= CY2 30 BX 1 CCCP= 30 11 6 C
UR 2 Mul = CY 2 30 NG Low = CY2 e )- e
PV29 35RE
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